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@ Fenmio Bt & 2

HEAAT 16, 36, 45, 48 1 ¥ 93+ ¥ g #R
TIeft IR 371 H gl s gEn g 2

(a) 9180
(b) 9360
(¢) 9630

(d) 9840

g x =32 y = baiR z = x° 8, M abe F OH
TR

(a) 1

by 2

e) -1

d) ©

qfe x =2 + 228 4 213 §, A 5599 x%— 622 + 6x
T A R 2

(a) 2

b 1

© 0

d -2

XXYXX % &9 6 uig st ft feafh gemnd 33

(a) 1
(by 3

ey 5

(d) Fd

5.

(2-A)

uie 3Rl it U G XY235 2, W 3 9 Rwrew
R XMy R Fm e X+Y<5
21X VF A & gafea gt ) g wn
27

(a) 5
(b) 6
(e} 7
@ 9

it x2 —6x - 27 >0 8, T Fefifea d &
FHE IR B ? |
(a) -83<x<9

(b) x<9¥qTx>-3

¢) x>9¥qMx<~3

(d) HaAx<-3

I 38808 % Wioh! i wEd, Wt 1 afk
T3 9 9T FI Bigw, et & 2

(a) 74

(b) 72

e} 70

(d 68

A TS F UEOW  WOOEd®  (HCP)
3w e (LCM) F99: (x + 3) 3R

x*-9x% -x +105) € | IR 0 ¥ ©F ;@R
x%—dx - 213, O qEU TGIG FR ?

(a) xZ2+2x-21
by x2+2x+15
(c) x2-2x-15

d x%-x-15
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The highest four-digit number which is (3.
divisible by each of the numbers 16, 36, 45, 48
is
(a) 9180
(b) 9360
(c) 9630
(d) 9840
If x = y& y=2zPand z = x¢, then the value of | g,
abc is
a) 1
() 2
) -1
d 0

7.
If x = 2 + 2%3 4+ 98 then the value of the
expression x3 — 6x2 + 6x will be
(a) 2
(b) 1
(c) O
@ -2

8.
How many five-digit numbers of the form
XXYXX isfare divisible by 33 ?
(a) 1
(b) 3
e 5
(d) Infinite

(3-A)

A five-digit number XY235 is divisible by 3
where X and Y are digits satisfying X + Y < 5.
What is the number of possible pairs of values
of (X,Y)?

(a) 5
by 6
) 7
d 9

If x2 — 6x — 27 > 0, then which one of the
following is correct ?

{fa) —-3<x<9
(b)) x<9orx>-3
() x>%o0rx<-3

(d) x<-3only

The number of divisors of the number 38808,
exclusive of the divisors 1 and itzelf, is

(a) 74
(by 72
ey 170
(d) 68

HCF and LCM of two polynomials are (x + 3)
and (x3 — 9x2 — x + 105) respectively. If one of
the two polynomials is x2 — 4x — 21, then the
other is

(a) xZ+2x-21
b)) x2+2x+15
(¢} x2-2x-15

d) x2-x-15
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11.

GTHY-T-XMT

A o R p W awRE Tl ¥ e
m+ﬂ#—%3ﬂ1aﬁ=§' %,ﬁﬂfl{p{qﬂzr
2, ot Frafefea # @ Sar meam R 2
(a) !
a+p
1,1
a P
1
op

d _aB
@ o+

(b)

(e)

T FRT ‘A’ R B Y s |y e e 5
w5 d qu e ) 3R a3 age § Rm
FEEAA | $E R IER g sy @
wH fran Ban, 3 B Y arce o e Fdwma
¥ @ 5 udh w=-foed sy @ =

forar g, o w3 R & qu A wmar 1 ¥

‘A 38 HE F R 1T # qu wtm o
3l fm

(a) 2

(b)
1 o
¢ 5= f=

(d)

(a) x2 1+ =
(b)

{c)

d [x*-1-—

12.

13,

14,

15.

(4-A)

R 7w wpRes denel ¥ ow oW
q%d 110 8, @ ITF T w ATHE w

& 2
(a) 625
(b) 654
(c) 684

(d)

3 il p 3 o, W8l p > 60 3 g > 60 B, F
THEA 7168 § N I HETW TANTdH

725

(HCF) 16 § | T9 3 yuitenl &7 InT%et warm & 2

(a) 256

(b) 184
(¢} 176
(d) 164

M logyo 2 = 0-3010 3R log; 3 = 0-4771 B, T
log 0 (0-72) %1 9T foresh st & 7

(a) 0-9286
(by 19286
(¢) 1-8572
(d) 18572

M ax=b=cFMabe=12 @ 1.1, 1
EaRERET e el B
(a -1
) 0
e 1

& 3
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9. If o and P are two real numbers such that|12.
olt+[5=—g and aBml,where l<p<q«<r,
p’
then which one of the following is the
greatest ?
1
(@ a+f
(b) 1 + 1
a P
1
© - of
d) af 13.
o +p
10. Two workers ‘A’ and ‘B’ working together
completed a job in 5 days. Had ‘A’ worked
twice as efficiently as he actually did and ‘B’
worked one-third as efficiently as he actually
did, the work would have completed in 3 days.
In how many days could ‘A’ alone complete the
job?
(a) 3—1- days
2 14.
1
(b) 4= days
6
{c) 5l days
2
@ 6 days
4 Y
6, 1 2 1 .
11. Ifx +_6=k X+ , then k is equal to
X X
h!
(a) x2 -1+ Lz 15.
X
®  [xt-1+1
<4
(c) xt +1+ L
<4
(d) x4 -1- -ITJ
X
GTHY-T-XMT (5-A)

If the sum of the squares of three consecutive
natural numbers is 110, then the sum of their

cubes is

(a) 625
(b) 654
(c) 684
(d) 726

The product of two integers p and g, where
p > 60 and q > 60, is 7168 and their HCF is 16.
The sum of these two integers is

(a) 256
(b) 184
(e) 176
(d) 164

the value of logyog (0-72) is equal to

(a) 09286
(b) 19286
() 18572
(d) 18572

If a¥ = b¥Y = ¢Z and abc = 1, then the value of

—1-+l+l will be equal to
X y z

(a -1

(b) O

(¢) 1

dy 3
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16. 3Ifd o 3 p Tl ax? + bx + ¢ = 0% 4A §, [ 19. Qﬁamxyp'l,b=yzfi'1’c=mf’—1%’a'?;

1'_ + 1 wmm%? &qubr_pCpuq mw%?
ac+b aPf+b

(a) abe
(a) % (b) =xyz
b e} O
B — () I9gw # § = 9
© 20, 3 T RS ) gei B Hew 5 : 4 F oA
1 TR | N F A w1 o 90 ? |
@ —= , frafafas et w faem i .

1. 3§ U 99 3 7R @0 ama R

2. I U TH QNS B SN g oTyw |

17. &= =i H A FEwe XYz, vZX 3R ZXY * 3. =T ar@ F 6 ATEE 720° 2 |
way § Frafafea s w fam Hif ‘

1. HEsl H ATEA, (X + Y + ) ¥ 0 I For & @ A A 2
T2 (a) a1
2. HEHIS H GTEH, 111 & T R | (b) Had 2
I HuEl § ¥ BRArd ad 22 2 €0 13K 3
(a) WHael 1 @ 23W3
(b) T 2 21. =% 2x% + 5x + 5 1 A9 AF FT R ?
(¢ 13K 2eH (a) 5
(d Tdar1sRad 2 (b) 15/8
(€ -15/8
@ o

18. 31 @i T8 (m, n), T m W n W IFR F

PRI 2. & e | H H
% qnts § 5 }m.k._l__i:%%’ 22, IR p ik Q # U wrew H R, W 2.
m n mn

. . HIHA RS ?
+ den fFat 2 2 8
_ (a) 1

(c) PQ
) 4

@ —2
d 2 P+Q

GTHY-T-XMT (6~A)
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16. If o and P are the roots of the equation|I9.
ax2 + bx + ¢ = 0, then the value of
1 1 .
+ is
ac+b ap+b
a
(@) be
b
b —
ac 20.
c
'] —_—
(e ok
d _—
@ abe
17. Consider the following statements in respect
of three 3-digit numbers XYZ, YZX and ZXY :
1. The sum of the numbers is not divisible
by X+Y+2Z).
2.  The sum of the numbers is divisible by
111.
Which of the above statements is/are correct ?
(a) 1lonly
21.
(b) 2 only
(¢) Bothland?2
(d) Neither 1 nor 2
18. The number of all pairs (m, n), where m and n
are positive integers, such that | 22.
1 1 1 2.
— 4+ = - — ==i8
m n mn 5
(a) ©
(b) 5
(c) 4
d 2
GTHY-T-XMT (7T-A)

If a=xy?P-1, b=yz9-1, ¢=2zx'-1, then

ad-Tbr~PcP~9 isequal to

(a) abc

{(b) xy=z

(cy ©

(d) None of the above

The number of sides of two regular polygons
are in the ratio 5 : 4. The difference between
their interior angles is 9°. Consider the
following statements :

1. One of them is a pentagon and the other
is a rectangle.

2.  One of them is a decagon and the other
is an octagon.

3.  The sum of their exterior angles is 720°.

Which of the above statements is/are correct ?

(a) 1only
(b) 2only
(¢) land3
(d) 2and3

The minimum value of the expression

2x2 + 5% + 51is

(a) 5

(b) 15/8
(¢) -15/8
(d ©

If H is the harmonic mean of P and Q, then

the value of % + H is

Q
(a)
by 2
P+Q
(c) PQ
PQ
(d) PrQ

https://www.pygonline.com



24, =9 3x%°

28, TENSN 1, +2,+3, +4 ¥ B wH AR T A

T W W T A ot e et
T TR T & 2

{a) 0
by -30
(¢) 30
(d) 55
- 2x% - 13xy? + 10y3 # (x — 2y} ®

fawfoa frm s 2, o dwew frEd s
AT R ?
T3
b y
(c)
(d)

(a)

y—5

y+3

25. R ab+bec+ca=0%, A

(b2 —ca) (c? - ab} + (@% — be) (c? - ab) + (@% - bo) (b? - ca)

GTHY-T-XMT

(a® - be) (b2 ~ ca) (c? — ab)
&1 I ¥R 7
(a)
(b 0

-1

e 1
d) 2

26. ¥8 YouH Ut =@ R, g wogE 9 § s R

M W & Tpaly =9 & &9 § T 210 N
B E?

(a) T 2000

(b)
(c)
(d)

T 3200
T 4000
T 4800

27.

28.

30.

(8-A)

(a)

o qlEn 4, 50% sradff sish ¥ % g, 40%
&= & % gu 3k 15% GNT fawal § W g
7 ?
(a)
(b
(¢)
(d)

20%
25%
60%
75%

100 m Tt Tk 1@, 100 m @9 TF wRBH
w10 I8 § IR = HKh ¥ | T | =
ot 2 2

36 kmph

45 kmph

54 kmph

72 kmph

(b}
{c)
(d)

U IEfRe War 9 At F WS 20 km
1 gl 40 kmph #I gy =@ @ T FT R,
T A 10 km HT G 10 kmph FY 3fwa =1
¥ T wa g, oM afall 30 km H
40 kmph ! 3ftUd =191 @ 99 F@T 2 | @
I i 3iad 9@ w0

(a) 20 kmph

(b) 2667 kmph

() 28-24 kimph

(d) 30 kmph

T TR HIet (1000 m) I TF G | A, B &
150 m ® BT 3, A€ 3000 m ! TH 3
A H, C,DRN40mATT R IBR I D
i 9161 % wU 8 | (W o A, B, ¢ @i
D it gfeafirarent d wraam w9 & s §) |
e A 3 ¢, 6000 m FF TF T T 9T o1 E,
A i dsnamwad i

(a) A, CWH 250 m % U1 8

(b) C,A I 250 m ¥ BT 8

(¢) A, C 11538 m & BT 3

@ C, A% 11538 m ¥ Fal &
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23.

24.

25.

The sum of all possible products taken two at
a time out of the numbers +1,+2,+3,+41s

(a) ©
(by -30
(e} 30
(d) &5

The remainder when
3x3 - 2x2y — 13xy2 + 10y° is divided by
(x — 2y) is equal to

(a) Zero
(b} ¥y

(¢} y-5
(d y+3

If ab + be + ca = 0, then the value of

(b? — ca) (c? —ab) + (a® — be) (¢? — ab) + (a® - be) (b? — ca)

(a2 - be) (b2 ~ ca) (¢ — ab)

is

(a) -1
(b) O
(e} 1
dy 2
26. What is the principal amount which earns
T 210 as compound interest for the second
year at 5% per annum ?
(a) ¥ 2000
(b) T 3200
(¢} T 4000
(dy T 4800
GTHY-T-XMT

217.

28.

30.

(9-A)

In an examination, 50% of the candidates
failed in English, 40% failed in Hindi and
15% failed in both the subjects. The
percentage of candidates who passed in both
English and Hindi is

(a) 20%
(b) 25%
() 60%
(d) T75%

A train 100 m long passes a platform 100 m
long in 10 seconds. The speed of the train is

(a) 36 kmph
(b} 45 kmph
(¢) 54 kmph
(d) 72kmph

A cyclist covers his first 20 km at an average
speed of 40 kmph, another 10 km at an
average speed of 10 kmph and the last 30 km
at an average speed of 40 kmph. Then the
average speed of the entire journey is

(a) 20kmph
(b) 2667 kmph
(e) 2824 kmph
(d) 30 kmph

In a race of 1000 m, A beats B by 150 m, while
in another race of 3000 m, C beats D by 400 m.
Speed of B is equal to that of D. (Assume that
A, B, C and D run with uniform speed in all
the events). If A and C participate in a race of
6000 m, then which one of the following is
correct ?

(a) Abeats C by 250 m
(b) Cbeats A by 250 m
(¢) Abeats Cby 11538 m
(d) C beats Aby 115-38 m
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- 31.

32.

33.

GTHY-T-XMT

o fia, T A, O Qe @ w Al gt
3R e i oy w1 AR 96 99 & | W
IREr w1 wd St wew # | fm o | W
I geA, 99 9fER & avft geen it g W
ATEA 66 T A1 | AR @ fran B Ay, @
# T g B o6 TR, A e F 12 af
e, Toar #i sy feerdt gnft 2

(a) 4479

(by 4594

() 46a¢

(d) 48af

‘A, B g § T T sresT AfiE @ ek
TF HH B T HA A B gon F 10T I
A 3 | I wE B AHS W A § B oW
T e it 2

(a) 12

(b) 15

(e} 20

@) 30

sfiem o ow e @1 H Gw I T
85 ¥=i 4 A, Wy ¥ wehedl A wa dew,
g § Tl i Fe &I H 70% B | Fad
Jefirey @e Tl wiEH f TEm, wew 6
& F 50% & N il Qe IR wgwt
+1 T U, ATH B P HEAT FT 60% B |
Fad 290 2w A T W= B e, a1
1 F T H 40% 2 3N T 12 9= W@ &,
it aefie o duw ¢ SH wed § | Faw
Fehifed Gon arelt weleal f den fhafh & 2
(a) 14

(b 16

(e} 17

(dy 35

34. UH oAk A forelt gFm A @ wgd X A v

36.

(10-A)

Gl | foh! ¥ v Yol =1 AeE 7 130
o | XRFE R m i o sl ag v
T 9% fasht =0 o | fah T ) wifve o= 3w
=itk ¥ T 13675 6 FA WA B A e |
fosht o s | vee a%g Y 1 05T 4 a4 2

(a) 75

(b) T85

() T122

(d T125

i wmi 6t S F AR, IR SEER W=
e firean sy ooft Y S @ of I R
I § @ W it = § sue stz e s
2 | B a§l W, 1 6 gg & 91 R ok 7w
A9t STEErg 1 e faen el e oot %
fore S S & o =t w1 o wiE T &
f | 5@ U9 6 gy B 2, 9% ooh SRRR
F1 amwn i el faven oeh & R @i
ST @ 3 SR w1 o w1 % g, St oanft
f 2 1 of 3w = 88,000 gew #i SRR H
wrfer ¢ | o i it SR 1 P o e
a1 7

(a} ¥ 1,00,000

(b) ¥ 1,24000
(e ¥ 1,28,000

(dy ¥ 1,32,000
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31.

32.

GTHY-T-XMT

The sum of ages of a father, a mother, a son
Sonu and daughters Savita and Sonia is 96
years. Sonu is the youngest member of the
family. The year Sonu was born, the sum of
the ages of all the members of the family was
66 years. If the father’s age now is 6 times
that of Sonu’s present age, then 12 years
hence, the father’s age will be

(a)
(b)
(c) 46 years
(d)

44 years
45 years

48 years

‘A’ is thrice as good a workman as ‘B’ and
takes 10 days less to do a piece of work than
‘B’ takes. The number of days taken by B’
alone to finish the work is

(a) 12

(b 156

(¢) 20

(d) 30

Out. of 85 children playing badminton or
table tennis or both, the total number of girls
in the group is 70% of the total number of boys
in the group. The number of boys playing only
badminton is 50% of the number of boys and
the total number of boys playing badminton is
60% of the total number of boys. The number
of children playing only table tennis is 40% of
the total number of children and a total of
12 children play badminton and table tennis
both. The number of girls playing only
badminton is '

(a) 14
(b) 16
(e) 17
(d) 35

34.

35.

(11-A)

A person bought two articles X and Y from a
departmental store. The sum of prices before
sales tax was T 130. There was no sales tax on
the article X and 9% sales tax on the article Y.
The total amount the person paid, including
the sales tax was T 136-75. What was the
price of the article Y before sales tax ?

(a) T75
(h) T8
() 122
d <T125

According to Mr. Sharma’s will, half of his
property goes to his wife and the rest is
equally divided between his two sons, Ravi
and Raj. Some years later, Ravi dies and
leaves half of his property to his widow and
rest to his brother Raj. When Raj dies he
leaves half of his property to his widow and
remaining to his mother, who is still alive. The
mother now owns ¥ 88,000 worth of the
property. The total worth of the property of

Mr. Sharma was
(a) ¥ 1,00,000
(by ¥ 1,24,000
() ¥ 1,28,000

(d) ¥ 1,32,000
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36.

a37.

38.

GTHY-T-XMT

B

X3 g % 5@ A 490 @l o Y s H
E H O e GE | dR F W R &
et il Fg Ay F @ F & S9a fwg
$ gt ? | 23 39 ot T wiY w e R
F 1 & w7 50 oy @ 351 v ug firen
R ot Himg N www A awmaw sl
o sk zF R A e soqam, @
TR W B T adt it FEqa F R0

(a8 <75
T 50
¢y T46

(d)

7@ (10) 7 e wH A 3R 3w ot H oy
3:1% U & off | 3@ @ 10 af @ FH
WY W1 AN 13 : 7 N | IR FANH Y
FME?

39 &Y, 21 94
(b) 55 &, 25 ¥
() 7594, 25 qf
49 3§, 31 =9

T30

(a)

(d)

1S (60) TTgHi S Th wa °, 45 ASH WA
wad ¥ it 30 o FoEd o € ) AR
HE F T AF TSH o Well # q F-Yey
T @9 9% Wodl 2, a frad @e% SO
HWEIE @Od 8 7

(a) 30

(b) 20

(e) 15

(d 10

39. @ wuet YWRMET, 5% AW 4% F WU R

41.

(12-A)

R I A | 4 F S A =
T 405 % S A7 | FeT fhaht wEw 3uw off
Ui

(a) T 1075
(b ¥ 1100
() T 1125
(d T 1150

e (12) Safts, WRfkA 8 92 wm @ # ol
Th dEAR &M B 3F 10 foq e # ) 3R
8 =afth Juerey &, At ®W H 8 Al F g W

& fe 3 vy e o =m o w1l 2
(@ 10%

b) 12%92

(¢) 15%R

(d 1842

T a TR I T g0 MR A dr w @
28 i gy whiar | 39d pu TE e % W
391 39 e Ft 3 Frag w A= Rm 2R
JHEHT TV 12:6% & W I Foveen wrt fiveman o
(a) 4-5¥fix

b)) 47X

(¢ 385&e

(d) 3&ieR
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36.

37.

38.

GTHY-T-XMT

X bought 4 bottles of lemen juice and Y bought
one bottle of orange juice. Orange juice per
bottle costs twice the cost of lemon juice per
bottle. Z bought nothing but contributed ¥ 50
for his share of the drink which they mixed
together and shared the cost equally. If Z’s
# 50 is covered from his share, then what is
the cost of one bottle of orange juice ?

(a) T75

(b) T50

(¢ T 46

(d» T30

Ten (10) years before, the ages of a mother
and her daughter were in the ratio 3 : 1. In
another 10 years from now, the ratio of their

_ages will be 13 : 7. What are their present

ages ?
{a) 39 years, 21 years
(b) 55 years, 25 years
(e} 75 years, 25 years

(d) 49 years, 31 years

In a class of 60 boys, there are 45 boys who
play chess and 30 boys who play carrom. If
every boy of the class plays at least one of the
two games, then how many boys play carrom
only ?

{a) 30
(by 20
{c) 156

d) 10

39..

40'

41.

(13-A)

Two equal amounts were borrowed at 5% and
4% simple interest. The total interest after
4 years amounted to ¥ 405, What was the
total amount borrowed ?

(a) T 1075
(b) T 1100
(0 T 1125
(d) ¥ 1150

Twelve (12) men work 8 hours per day and
require 10 days to build a wall. If 8 men are
available, how many hours per day must they
work to finish the work in 8 days 7 -

(a) 10 hours

(b} 12 hours

{(¢) 15 hours

(d) 18 hours

A milk vendor bought 28 litres of milk at the
rate of T 850 per litre. After adding some
water he sold the mixture at the same price.
If his gain is 12-5%, how much water did he
add ?

(a) 45 litres
(b) 4 litres
(c)  35litres
(d) 3 litres
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42. wF wdt # e B g, o8 o % Raw A

45.

Fi o A ¥= s gk 0
(a) 12
(b) 24
{c}) 36
(d) 48
GTHY-T-XMT

(c)

(Y

A% 72 fire % @, @ 1 gd & o few
et B ) G ' ¥ e d w9 d aw
g e wmm, 8 I o, & sroft o

1212 e e
11

1571 fimz 9
11

1212 Rz am
11

(d) 157% firre am

o IR fFFft | # wdt ©F W quam, =
40 kmph ) T ¥ TR 9T AT & | oY HL
A1E = 1 Y41 T 2 3R SR F Ao god
% frelt ot %R # 60 kmph #1 o1 & ¥R &1
ot a1 @ | Wi, =W % e % w2
(a) WAHATH F W F 55 km F gl W 2l 9@
¥ TH 62 9]

AT F W | 60 km I gl W i NG
F 15 W WG

"I % W & 60 km Y gt W 3kt =rfy
FI 941 T & 1-5 T 918

AMAE + = H 55 km ' g w 3R =91
% 15 U2 91

X ¥R Y 3t e o wm Wl 6 A i qm
Hd § | e X I wm Wl 12 G F qu =
THal g | I W B QU W T IHFR Y W
Tera wmm = 2

@ 16fA

® 12fA

© 10fF

(@ s8f&

aRE (12) WA UF I 10 w9l & 16 e o
U & Thd & | 8 s 3ot YR F 20 wEd

{a)

(b)

{c)

(b

46. (02" % 7R # qmEE fig % g W] 0 I

(14-A)

% | 98 foar mm ¥ 6 logyg 2 = 030103 B |
n % T R 2

(a> 25
(b) 19
(¢} 18

d 17

. U T oft g3 Y ag & dree oK o W

IO 11:3 ¥ 1 Peafafes s w few
i

1. TN Y HT I 805 |

2. 9 1 IqH) qdUE Y F g Y F A
m%m:'aﬁraﬁgm:ﬁgmn:aml

I FeE § @ WA T 3R 0
(a) WHae 1 |

(b) e 2

(© 1323

@ T@1MTA 2

48. iﬁﬂﬁﬂ'&fﬁﬂaﬁx+y253ﬂ'{x—ysaﬂm

wel fea 8 7

(a) “hael Wy wquty A

(b) wuw IR fedfa sgeiet &
fodta oiv qeftg wgutel d
T it gl =gata §

(c)

(d)
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42. The minute hand of a clock overtakes the hour | 46.
hand after every 72 minutes of correct time.
How much time does the clock lose or gain in a
day of normal time ?
(a) Lose 121% minutes
(b} Lose 157% minutes
() Gain 121-:::}—1 minutes
(d) Gain 15711—1 minutes
417.
438. A thief steals a car parked in a house and goes
away with a speed of 40 kmph. The theft was
discovered after half an hour and immediately
the owner sets off in another car with a speed
of 60 kmph. When will the owner meet the
thief ?
(a) 55 km from the owner’s house and one
hour after the theft
{(b) 60 km from the owner’s house and
1-5 hours after the theft
{¢) 60 km from the owner’s house and
1-5 hours after the discovery of the theft
(d) 55 km from the owner’s house and
1'5 hours after the theft
44, X and Y together can finish a job in 6 days. X
can alone do the same job in 12 days. How
long will Y alone take to do the same job ?
(a) 16 days
(b) 12 days
{c) 10days 48.
(d) B8days
45. Twelve (12) persons can paint 10 identical
rooms in 16 days. In how many days can
8 persons paint 20 such rooms ?
(a) 12
by 24
(ey 36
(d) 48
GTHY-T-XMT (15-A)

There are n zeros appearing immediately after
the decimal point in the value of (0-2)25. It is
given that the value of log,( 2 = 0-30103. The
value of n is

(a) 25
(b) 19
() 18
@ 17

The ratio of the sum and difference of the ages
of the father and the son is 11 : 3. Consider the
following statements :

1. The ratio of their ages is 8 : 5.

2. The ratio of their ages after the son
attains twice the present age will
be 11: 8.

Which of the statements given above is/are
correct ?

(a) lonly
(b) 2only
(¢) Bothland2

(d) Neither 1 nor 2

The solution of linear inequalities x + y =2 §
and x —y < 3 lies

(a) Only in the first quadrant
(b) In the first and second quadrants
(¢} In the second and third quadrants

(d) Inthe third and fourth quadrants
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49 -

50.

GTHY-T-XMT

D)

7z R e # 5 @Rl 22 - 42 = 0 3
(x - a) + y2 = 1 %I Ul YTHF & & | SHH

Rmawmamwnd?

@ 2
by 2
() —42

@ 1

R o, p ﬁt?@ﬁﬁx)maxa+bx2+cx+dai
T E, At o2+ p2+y? Toroes s 2 2

(a) 5

(b)

(c)

ST AT AT 04 (W) Wwivit ¥ fore Pt

T XIT I T wfian °, 559 Frneff v fmm

1 918 gq, 62% Wifowwer § v gY, 60% WM
H U g, 25% sifosmes aiv e e F o g,
30% sifokerer ok wEe § U ge, 28%
S T of warmee § am g | hae 29 framfl
aft forwat & %@ g

51.

52.

(16-A)

foret e Frenedl oot ot foreat  wrr g 2
(a) 6
by 5
() 4
d 3

frem wfow foameff S5 ws fAvg § om
ge?

(a) 21

(by 23

() 25

d)y 27

gfe Tl Y g=m 360 B, @ FwAEm @
forvat 7 fora formeff wrar gu 2

(a} 270

(b) 263

(c) 265

(d) 260

ifoerares it wrmwes 241 4 o 28 9@
faenfiat K denm =1, e fagm e
Wioweres A1 & o g wraerR §
T B g el ) dem @, suE T
2

(a) 7:10

(b) 10:7

ey 9:7

d 7:9
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49. It is given that the equations x2 — y2 = 0 and
(x — a)? + y2 = 1 have single positive solution.

For this, the value of ‘a’ is

(a) 2

(b) 2
(c)

-\

d 1

50. If a, B and y are the zeros of the polynomial
flx) = ax® + bx2 + cx + d, then o + B2 + y2 is

equal to

2—
() b ac

GTHY-T-XMT

Consider the following for the next 04 (four)
items that follow :

In an examination of Class XII, 55% students
passed in Biology, 62% passed in Physics, 60%
passed in Chemistry, 256% passed in Physics and
Biology, 30% passed in Physics and Chemistry, 28%
passed in Biology and Chemistry. Only 2% failed in
all the subjects.

51. What percentage of students passed in all the
three subjects ?
(a) 6
(b) 5
c) 4
d 3
52. What percentage of students passed in exactly
one subject ?
(a) 21
(b) 23
() 25
dy 27
53. If the number of students is 360, then how
many passed in at least two subjects ?
(a) 270
(b) 263
() 265
(d) 260

What is the ratio of number of students who
passed in both Physics and Chemistry to
number of students who passed in both
Biology and Physics but not Chemistry ?

(a) 7:10
by 10:7
(e} 9:7
d 7:9

(17-A)
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55.

56&

57.

Rreht e # gredt % Aoflem =1 29 (3) fra
TR AT ST R ?

(a) it W (FhFE what)

(b) S AT (e wha)

(¢) AU AT (3eEe Thel)

(d) I T (SN )

AT A % ftEd o 65 € 3R awm B %
aftad o 70 & | 3fs g1 gt & fen @
¥ 3NEa 37 67 Bd &, T IFIM A S I A
&A1 % UM B & B % §EW | AqUE
R 2
(@ 3:2
by 1:3
{¢} 38:1
dy 2:3

19 Yavit Y miferesr (sfifeg) 30 & 1 & el
Seror forg et & o 3% W 8 3 328 | 3w
21 Jeguit A1 wifedes = & 2

{a) 32

(by 30

() 20

(d) <9 g9 (2) & wrw Fuifa 78 e
1 TRl

58. S8 @ dapil ot anl (wwwdw) € den

GTHY-T-XMT

(a) Wiﬁiﬁﬂiﬁim%
(b)  sftreiftrr Frshior 89 <t yafr waan 3
(c) &gt & Tga &

d) Faa adt ofalia gar 2 Ik =@ (32
aeFa it faveeig & s @

(18-A)

59. Hﬂ?ﬁﬁlﬁ il aﬂ.{ ig (Hﬁ _3?2 >i1)m1

ny 3 ny (& ny < n,) &l IR § AY=EL
Wy § | Ay 3 fren W woar x 2, A
Fefrfsrd d o adt 2 2

{a) 3&1 <X < iﬂ
(b) x> 5_{2
{C} X < ii

(d) (il—ﬁ)i’(ig-—i)ﬁﬁ

. Fafafes s w faan Fifvm .

FYTI :

i g off aiwfera 6t s awdt & o Ref

TR W ¥ BR S g & |

mn:

qﬁm%@ﬁﬁwaﬁm%;

WW%Wﬁﬁmﬁfﬁﬁﬁﬁaﬂqm

T T @ 7

(@ ¥ 13 wm 10 g ol & ol wem
IL, o 1 1 e = @

(b) Y I 3R weF 11 31 dd) & o =
II, Y 1 <) 98t =ars T8 8

(¢) A [HE B W YT 11 o9 &

(d) U [T & WHH 11 98 2
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55. Data on ratings of hotels in a city is measured | 59,
on
{(a) Nominal scale
{b} Ordinal scale
(¢} Interval scale
{d) Ratio scale
56. The average marks of section A are 65 and
that of section B are 70. If the average marks
of both the sections combined are 67, then the
ratio of number of students of section A to that
of section B is
(a) 3:2
(b) 1:3 60.
¢c) 3:1
(d 2:3
57. The median of 19 observations is 30. Two
more observations are made and the values of
these are 8 and 32. What is the median of the
21 observations ?
(a) 32
(b) 30
(e) 20
(d) Cannot be determined due to
insufficient data
58. As the number of observations and classes
increases, the shape of a frequency polygon
(a) Tends to become jagged
(b) Tends to become increasingly smooth
(¢) Stays the same
(d) Varies only if data become more reliable
GTHY-T-XMT (19-A)

Let X, and Xy (where X3 > X, ) be the means
of two sets comprising n, and n, (where
ny < n,) observations respectively. If X is the
mean when they are pooled, then which one of

the following is correct ?
(a) X3 <X <X

(b) X >Xg

£) X <X

(d) (il—i)“‘*(}_{g-—i):ﬂ

Consider the following statements :
Statement I :

Median can be computed even when the end
intervals of a frequency distribution are open.

Statement I :
Median is a positional average.

Which one of the following is correct in respect
of the above statements ?

(a) Both Statement I anﬂ Statement II are
true and Statement II is the correct

explanation of Statement I

{(b) PBoth Statement I and Statement II are
true and Statement II is not the correct

explanation of Statement I

(¢) Statement I is true but Statement II is
false

(d) Statement I is false but Statement II is
true
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61.

62.

64.

GTHY-T-XMT

Wﬁms@:i,ﬁf’ﬁﬂazﬂ-:i'g,ﬁ

2609t s R 2

‘1 tan? 6

(a) 4/3

(b) -—-4/3

0 1/3

@ -2/3
‘T&0<9<90",0<¢<90“3’?F{cosﬁf.cnsda%,
@R d s w2 0

{a) O<¢

by B>9¢

{(c) B8+¢=90°

() 55 Frnd 7 Freren s awa

r B O w6 sdiiensR e % i W oh
FTE A TH Gl AM 2 | 9 F 0 fag @
e % Wi 1 I3 B 30° # | P Y AR
d gt =w ¥ IR Wl o we w Rwd W
@, 399 B 45° % | 981 h @ r B IUE
oo s @ 2

(a) +2-1

\/5+1
> 2
V3 +1
22 4

3+ 1) (V2 - 1)
242

oA T sin (A + B) =
8, W& A, B <RI ¥ | tan (2A —

e B ?
(a) 1/2
(b) 3

(c) S
“ 7B
d 1

(b)

{(c)

(d)

V3

‘Jg 3#[[:058:—2—

B) fress |

65.

67.

(20-A)

 Frafafaa wwEt w faar il .

. cos@ cos 9

1. E J
qﬁl—s.inﬁ+1+sin9 4, 7
0<8<90°8, 1 6 =600

2. ﬂﬁatan8+cotﬁ=5casecﬁ, E
0<8<90°8, @ 6 =60°

IE FeEl § @ BEEA gl A 2
(@) %ad 1

(b) e 2

(0 13 2gmt

d T 1sad2

ﬁm%fiﬁaa:ﬁmﬁwﬁm-

1. cos?o= , W&l p, q H@?R‘

wﬁmm% *ad aft 9va § 5=
P=q.

2. tan?0= —2__1, W&l p,q YAN
(p+q)

qredfas el §, e off TvE § 39"
P=q.

I Fol B & A wd 3

(a) oHael 1

(b Had 2

(¢) 13 22

d TA@M1dRTIA2

Fr=fafa s v far $ifte .

1. casﬂ+sec9$’fﬁiﬂ1-5aiw=@@
T | ~ “

2. sec’0 +cosec? o Tt oft 4@ T A B
e |

IR FoEl o § BE-EAR A 2

(a) Had 1

(b) oA 2

(¢) 13 2gHt

(d Tar1afRade
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1 n 65
61. If cos 6=——, where 0<08<—, then .
J5 2
—Mﬂg— is equal to
1-tan® 0
(a) 4/3
(by -—4/3
(e 13
d -2/3
62. If0<6<90°0<¢ < 90° and cos 8 < cos ¢,
then which one of the following is correct ?
(a) 0<¢
(by 6>¢
(c) 0+¢=90°
(d) No conclusion can be drawn 66.
63. On the top of a hemispherical dome of radius
r, there stands a flag of height h. From a point
on the ground, the elevation of the top of the
flag is 30°. After moving a distance d towards
the dome, when the flag is just visible, the
elevation is 45°, The ratio of h to r is equal to
(a) 2-1
1
w 23
22
© V3 +1 d
242
@ WB+DGR-D,
22
64. Letsin(A+B)= % and cos B = % , where 67.
A, B are acute angles. What is tan (2A - B)
equal to ?
(a) 1/2
(b V3
1
() —
V3
d 1
GTHY-T-XMT (21-A)

Consider the following statements :

cos B cos B
l1-s8in8 1+sin6
0 <06 < 90° then 8 = 60°,

1. If

=4, where

2. If 3 tan B + cot 8 = 5 cosec 6, where
0 < 8 < 90° then 6 = 60°.

Which of the statements given above is/are

correct ?
(a) 1lonly
(b) 2only

{c) Bothland2

{(d) Neither 1 nor2

Consider the following statements :

p®+q°
2pq

non-zero real numbers, is possible only
when p =q.

1. cosZ 0=1-

, Where p, q are

_4pq __
(p+ q)2
non-zero real numbers, is possible only
when p = q.

2. tan® 6 = 1, where p, q are

Which of the statements given above is/are
correct ?

{(a) 1only
(b)
(¢) Both1and?2

({d) Neither 1 nor 2

2 only

Consider the following statements :

1. cos @ + sec © can never be equal to 1-5.

2. sec? § + cosec? O can never be less than 4.
Which of the statements given above is/are
correct ?

(a) 1lonly

(b} 2 only

(¢) Bothland?2

(d) .Neither 1 nor 2

https://www.pygonline.com



68.

69.

70.

71.

?il'f&singx-l-sinx:l%,‘éﬂ

cosmx+3cosl€’x+3mssx+c¢}sﬁxﬂm
TR ?

(a) ~1

b)) 0

{cy 1

(d) 8

fe 3sin0+5cos0 =48, W
(3cosO—5sin 2 H AR FT R 7

(a) 9

by 12
(¢} 16
(d) 18

A cot 6 (1 + sin 6) = 4m 3R '
cute{l-sin8}=4n%, a fefafigs © |
ST TF TR R 2

(a)
(b) m?-n%2=mn

(¢} (m?-n2)?=m2n?

(d) (m?%+n2?2=m?n2

Ife T wawior By &1 smur i w0 A
(2 - v?) 3R (2 + v?) &, 3 B @1 e

(m2 + 10?2 =mn

2016 f 37€ &, ) Bgs i v fraft 2 2
(a) 224 FHE
(b) 288 373
(¢) 4483FTE
(d) 576 THT

72. | T o A flt wweng By d @
Hda9d ¢ | I Siagy § S 9 R off ofwfa
a1t 1 5w faRaar @ 2
@ L |
a] ?
V32
(b} 7}
(c) E:—
o
(d) 3
GTHY-T-XMT

73.

74.

(22-A)

THEAE 5 FH B dER (vl R wul
sigR) Grehl o, <ed ot 3= =
6m,4~m3ﬁ'(2'5m§,aff-2'qﬁﬁ1=ﬁ§iﬁa
F0 R W, F WA A USE § UF IUER
fageht & el 7% o1 25 m 2 | U= Faw
1 e & fewal # € 3uerew § ok 1 e I=
H 20 it et SEwe Y= e M ama 2 1 A=
FH F R srravas fasat f ey frgft 2 0
{a} 10

(b) 12

(¢} 13

(dy 14

W e s v wwiw wgdw & o R
=gyT T % wen fargell &) g s )
Freafeafya e W faar fifim . :

1. T% &% 3R S F &aber * IE
2:1%8 |

2. S % ufmm, TF fawol & e w
3T # |

I w § A Bad adh 8 0

(a) %ad 1 -

(b) Fae 2

© 13K 23H

(d wTd 1A 2

5. Wﬁﬁﬁﬁ‘ﬁﬁl&ﬁcm,ﬁmﬁ?cm%?

By 1 awe s R R 2
(a) 149 cm?
(b) 14-7 cm?
(¢) 14-5¢m?
(d) 14-3 em?
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68. Ifsin® x + sin x = 1, then what is the value of | 73.
cos'2 x +3cos'®x + 3cos® x + cos¥x ?
(a) -1
(b) 0
e 1
(d) 8
69. If3sin 0 + 5 cos 8 = 4, then what is the value
of (3 cos 6 — 5 sin §)2 ?
{a) 9
by 12
(e} 16
d) 18
70. If cot8(1+sin8)=4m and
cot 0 (1 — sin 8) = 4n, then which one of the
following is correct ?
2 022 =
(a) (m?+n4¥*=mn 4.
(b) (m2-n?%?=mn
(¢) (m2-n?)?2 = m2n2
(d) (m?+ n2)2 = m2n2
71. If base and hypotenuse of a right triangle are
(u2 - v2) and (u? + v2) respectively and the
area of the triangle is 2016 square units, then
the perimeter of the triangle may be
{a) 224 units
{b) 288 units
(¢} 448 units
(d) 576 units
72. - A circle is inscribed in an equilateral triangle
of side of length I. The area of any square
inscribed in the circle is
2 75
{a} E -
312
bm Y32
4
2
(c) =
4
32
d :
(d) 5
GTHY-T-XMT (23-A)

Walls (excluding roofs and floors) of 5 identical
rooms having length, breadth and height 6 m,
4 m and 2'5 m respectively are to be painted.
Qut of five rooms, two rooms have one square
window each having a side of 2:5 m. Paints are
available only in cans of 1 litre; and 1 litre of
paint can be used for painting 20 square
metres. The number of cans required for
painting is

(a) 10
(b) 12
ey 13
d) 14

Let S be the parallelogram obtained by joining
the mid-points of the parallelogram T.
Consider the following statements :

1. The ratio of area of T to that of Sis 2: 1.

2. The perimeter of S is half of the sum of
diagonals of T.

Which of the above statements is/are correct ?

(a) 1lonly

(b) 2only

{c) Bothland2
(d) Neither 1 nor 2

The sides of a triangle are 5 cm, 6 ¢cm and

Tem. The area of the triangle is
approximately
(a) 149 cm?2
(b) 147 em?2
(¢) 14'5cm?
(d) 14-3 cm?
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76.

7.

78.

79.

GTHY-T-XMT

TH Jei yEe Rewr S9vd 144n m? 8, F
IR A 5 m ANIE F @ g 97 | 9R
3R % 99 Hl st 5 709 G W 39
FIhA o & 2
{a) 3497 m2
(b) 289t m2
(€) 2097 m2
(d) 1497 m?

T WG H U TS 8% 462 em? R 1|

gt fot ST 35 em B | WF F uR K
e

(a)
()
(c)
{d)
T AT e FH Wew (I +F) &
TR S ST AT ] | UF F 996 3N
FE & € HT AR R 8 2

(a)
(b)
(¢ 30°
(d)
T 3 el 9o L 9K s om B 1 AR
BEwE W YT B, @ 9 ar ) Brem
Tomerlt & 2

nf2 em

84 cm
65 cm
4-2 cm
3-2cm

60°
45°

15°

(a)
(b)
(c)

nem
1/t cm

(d 2fnem

81.

82.

(24-A)

@)

20 em TETE, 15 cm EE 3R 10 em Furd T
UF NI wE B owE wA fl o
HEA1 § HIeT AT R | T gTaH G9E s
41 gy 2
(a) 12
(b 16
(c) 20
d) 24

Ife Tk w9 % el i g 12, | 3 o W
F TSST JA6e Fohar 8 2

(a) 312
() 312
J2 12
212

(c)

Th gy By, T 9 o uw ga v aiem
T 7 | A T, 8 o ¢ shaw: e w1 g,
1t #1 gawe ot 39 W Awva Pifde =@ €,
ot Fr=fafes § & Sa adt 3 2

(a) T<«8<«C

(b) S<T<C

e} C<S<T

(d T<C<S

3 aey Fgeit & 8we B (7 — 443 ) em?
A (7 + 443) em? & | I W@ yenat w=

U T 27
(a) 7-443
) 7-3V3
@ 5-43
(@ 5+ 43
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76. There is a path of width 5 m around a circular | 80.
plot of land whose area is 144n m2. The total
area of the circular plot including the path
surrounding it is
(a) 349n m?

(b) 2897 m?
(c) 2097 m?2
(d) 1497 m?
81.

77. The lateral surface area of a cone is 462 cm?.

Its slant height is 35 ¢m. The radius of the
base of the cone is

(a) 84cm

(b) 65cm

ic) 42cm

(d) 32cm a2

78. A semi-circular plate is rolled up to form a
conical surface. The angle between the
generator and the axis of the cone is
(a) B60°
{b) 45b®
{e) 30°
(d) 15°

79. A solid right cylinder is of height n cm. If its
lateral surface area is half its total surface

area, then the radius of its base is
(a) nf2em
(b) mem
(¢ 1l/mem
(d 2/nem
GTHY-T-XMT (25-A)

A rectangular block of length 20 e¢m, breadth
15 cm and height 10 ¢m is cut up into exact
number of equal cubes. The least possible
number of cubes will be

(a) 12
(b) 16
ey 20
(d 24

If the diagonal of a cube is of length /, then the
total surface area of the cube is

(a) 312
(b) V312
© 212
d) 212

An equilateral triangle, a square and a circle
have equal perimeter, If T, S and C denote the
area of the triangle, area of the square and
area of the circle respectively, then which one
of the following is correct ?

(a T<S<C
(b) S<T<C
() C<S<T
(dd T<C<S

The areas of two similar triangles are
(7T-4v3)cm? and (7 +4+3)em?

respectively. The ratio of their corresponding

sides is

(a) 7-443
by 7-343
(0 5-+3
(d) 5+ 43
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84.

85.

86.

GTHY-T-XMT

o g i S s e B3 TR

Sfar gro @y 9 W afa e ma @,
99 W Iia fFr R S LT R | kW
o 18 7

{a) b5

b 2

© 1/2

@

s o ABC #, Yo AB, AC Wei it §
AN 2 ABC 3R £ ACB % =& ®woii % fgwrrs
D W faede & § | ¢ £ BAC =50° %8, @
2 BDC forersp Ter 2 2

1/5

(a) 115°
(b)
()
(d)

65°
55°
40°
T T H FEEAT 1:3F AT H E | AR

9 Aul i Beard 3:1 & U H &, @
I SATAGHT T IIAT T F ?

() 1:1
by 2:1
(e} 3:1
@ 9:1

87. R & W AB ik CD fig 0 W W WK

wfoedg Fft § 6 £ AOC=524A0D%, @ O
W o4 9t 9/ S0 541 8 2

(a)
(b)
(e)
(d)

40°, 40°, 140°, 140°
30°, 30°, 150°, 150°
307, 45°, 76°, 210°

60°, 60°, 120°, 120°

(26-A)

88,

89.

e v forg P @ YR = § 6 @ Faa
forgat A 3R B3 el gl & it w1 A

Fmy, dfegrEfegmend?

T WA @

T qa

AB %1 7@ fgwrers
TF WO 9%

(a)
(b}
()
(d)

I ABC U& @ T ¥ Sl AC Sae w0l
g afffgnda s s adi 2 2

(a) AC®<AB?+BC?

) AC®s AB® 4+ BC®

@ AC®<AB®+BC?

@ AC®:> aB®+BC?

T U 89+ %o fRa @, St 9 &9 @
zacm%’rgwaﬁwaﬁﬁW%aﬂt
AN ¥4 4 v 0 g9 @ oiag o 39 ol

+ IR genatt & oo w2
(a) (4-ma?
) (- 2a

(€) (8-maZf2

(d) (n—2)a2/2
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84. The chord of a circle is /3 times its radius. | 88.
The angle subtended by this chord at the
minor arc is k times the angle subtended at
the major arc. What is the value of k ?

(a) b
by 2
© 1/2
d 1/5

85. In a triangle ABC, the sides AB, AC are
produced and the bisectors of exterior angles
of ZABC and £ ACB intersect at D. If
Z BAC = 50°, then ~ BDC is equal to 8o
(a) 115°
(b) 65°
(c) B5°
(dy 40°

86. Two cones have their heights in the ratio 1: 3.

If the radii of their bases are in the ratio 3 : 1,
then the ratio of their volumes will be

(a) 1:1

by 2:1

) 3:1 90.
d 9:1

87. If two lines AB and CD intersect at O such
that Z~ AOC = 5 £ AOD, then the four angles
at O are
(a) 40°, 40°, 140°, 140°
(b) 307, 30°, 150°, 150°
(e)  30°,45°, 75°, 210°
{(d) 60°, 60°, 120°, 120°

GTHY-T-XMT (27 -A)

If a point P moves such that the sum of the
squares of its distances from two fixed points
A and B is a constant, then the locus of the
point P is

{a) A straight line

(b)

A circle
(¢) Perpendicular bisector of AB

{(d) An arbitrary curve

If ABC is a right-angled triangle with AC as
its hypotenuse, then which one of the

following is correct ? htips://'www.pygonline.com

(a) AC®<AB®+BC?

b  AC? > aB® + BC?

@ AC®<aAB®+BC?

(@ AC®>aAB®+BC?

The area of the region bounded externally by a
square of side 2a c¢m and internally by the

circle touching the four sides of the square is

(a) {(4-ma?

(b) (rn—2)a2
(c) (8-ma2f2

(@ (n-2)a22
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o21.

92.

93.

GTHY-T-XMT

2 & 7 sl #, ABC wh W fiyw }
GﬁfiAﬁQﬂ",AB:pchﬂIAC =qcm%|
fpw ) A geell & wm AEE arded
e e § S fR oemsfy d femn mn #

(a) pg
(b)  n(p? + q2)/2

(@ np?+q?
(d) pqf2

= & md o #, 99 i Brswr 6 em 8, 3R

AT = 4cm ® | T¥3@1 PT 4 wars et 8 2
. P s

(a}) 6Hem
(b) 8cm
(e} 9cm
(d) 10cm

2 @ ¢ Pl #, 9 con B I wE q@ F

=18 ABCD 2 | AB, BC 3R CD st &iwird
¥ # | AB 3R BD ' =W A aiga €@ M
£ S fr srfy § fommn mn 2 | sMifER wm
T ATHE T E ?

(a) 9=n

(b) 27n
(¢) 36n
(d) 8ln

(28-A)

94. #= & T8 v H, £ BCD forud woet 22
- ‘ D .

(a) TO°
(b) 75°
(c) 80°
d) 90°

95. 9 @ 7 ampfa 4, AB Iw 3@ = =W B

s & g o m & | fm o 2
£ ECD = 2 EDC = 32° ®, @ «CEF
ZCOF FHS: T8 7

&
3t

/F%
A ' B
O E

D
(a) 32° 64°
(b) 64°, 64°
(c) 320, 32°
d) 64°,32°

96. = € T 7 H, AABR~APQR % | IR

PQ = 3 cm, AB = 6 cm, BR = 82 cm 3
PR =52 cm 2, 4 QR 3R AR A9 F1 & ?

(a) 8&2cm, 104 cm
(b} 41lcm,6cm

(¢} 26cm,52cm
{(d) 41cm,10-4cem
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91. In the figure given below, ABC is a|94.
right-angled triangle where Z A = 90°
AB = p cm and AC = g em. On the three sides
as diameters semicircles are drawn as shown
in the figure. The area of the shaded portion,
in square ¢m, is
a) pg
(b n(p? + q2)/2
(¢) n(p?+q? 95,
(d} paqf2

92. In the figure given below, the radius of the
circle is 6 cm and AT = 4 cm. The length of
tangent PT is :
(a) 6cm
(b) 8cm
{c) Ycm
(d) 10cm

93. In the figure given below, ABCD is the
diameter of a circle of radius 9 cm. The
lengths AB, BC and CD are equal. Semicircles
are drawn on AB and BD as diameters as|96.
shown in the figure. What is the area of the
shaded region ?
(a) 9n
(b) 27n
(e} 36n
(d) 8lrn

GTHY-T-XMT

(29-A)

In the figure given below, what is ~ BCD
equal to ?

(a) 70°
(b) 75°
{c) 80°
(dy 90°

In the figure given below, AB is the diameter
of the circle whose centre is at 0. Given that
£ ECD = £ EDC = 32°, then £ CEF and
£ COF respectively are

D
(a) 32 64°
(b) 64° 64°
(¢} 32°,32°
@ 64°,32°

In the figure given below, A ABR ~ A PQR. If
PQ = 3 cm, AB = 6 em, BR = 82 ¢m and
PR = 52 cm, then QR and AR are respectively

P
B F’/\Q
A
(a) 82cm, 10-4cm
(b} 4-1lem,6em
(¢} 26cm,52cm
d) 4-1cm, 10-4 em
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GTHY-T-XMT

97. A= & 7§ sl ¥, ABC ©% fiyw ¥ Rl AB,

BC Ut #@ 2 | 30 Afafich BD,ACT &= 8 |
ﬂﬁADaQCmaﬂIDG=4cm%,?hBD£T
R TR 2

B

(a) 13/36cm

(b) 36/13 cm
(¢ 13/2cm

6 cm

(d)

98. R § H wFh A, w8 AW igw = AW

108 ¢cm 2 | BAIfFT 8T 1 SA%B TR ?

e B4 o ——— 54 cn —>

{a) 201x cm?

(b} 186-3m cm?
{¢) 405z cm?

(d) 7695x cm?

99.

~ (b)

100.

(30-~A)

=2 § el A, ABC & wE B g,
fomeht w91 30 em &and 1} | XY, BC
& g B, XP, AC % #UR § 3R YQ, AB
F AR | AR XY + XP + YQ, 40 em &, A
PQ &1 U T &7

Hem

12 em

(¢) 15¢m

(d) 10cm

™ @ v Ry #, ABCD, 4 cm #Y Y& TN
QEEEFE% !ﬂﬁﬁﬁﬁammﬂlﬁﬁ%ﬂ
F vguly o1 for 9 § it 2 om =W AW
o g9 g R s } ) sifea & W
SAB T 8 ?

(a)

(a)

(b)

(c)

{d)
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97. In the figure given below, ABC is a triangle |99.
with AB perpendicular to BC. Further BD is
perpendicular to AC. If AD=9cm and
DC = 4 ¢m, then what is the length of BD ?

B
C D A
(a) 13f36cm
(b) 836/13 em
(¢ 13/2cm
(d) 6cm
100.

98, In the figure given below, the diameter of
bigger semicircle is 108 cm. What is the area
of the shaded region ?

(a) 201lmcm?
(b) 1863 cm?
(¢) 405t cm?
(d) 769-5n em?
GTHY-T-XMT (31-A)

In the figure given below, ABC is an
equilateral triangle with each side of length
30 cm. XY is parallel to BC, XP is parallel to
AC and YQ is parallel to AB. If XY + XP + YQ
is 40 cm, then the value of PQ is

A

B P Q C
(a) 5cm
(b)) 12cm
() 15cm
(d) 10cm

In the figure given below, ABCD is a square of
side 4 cm. Quadrants of a circle of diameter
2 em are removed from the four corners and a
circle of diameter 2 cm is also removed. What
is the area of the shaded region ?

(a) 5% em?
(b} 7% cm?
(¢) 97?- cm?
(d) 99— em?2
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